W

B4 GEIEREOOO) / Color Type (End of product numberd )

BT =h)LT—74 / Technical Datall ¥R A% / Components
No. # 5 / Part name #=E / Pcs #*& / Material - RELIE / Color-Finish
"#E{TRILT / Recommended torque 1 a—F—Jovs A FIVIH A F xRk ADC12 SIWR— |, TSy -k
7NA 7"'\1:_[-,1()1/ FM3x10 / Hexagonal M3-10 : 0.2N-m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
. o e e R TILSHH M A6063S-T5 DIN—,TS597-TILIA
BAFYELTEZAMSXE / Self-tapping pan head M5-8 : 1.5N*m 2 Frame 2 Extruded aluminium A6063S-T5 Silver , Black+Anodized
ZDHE X / Other screws : 0.3N*m ~ 0.6N*m 5 IL—4 s LA A6063S-T5 DIIN—, TS5V T4
I Panel support frame Extruded aluminium A6063S-T5 Silver , Black+Anodized
-ERF FFB M E / Handle Allowable load : 20Kgf AL VSR ATIO0P ==y
! Panel 2 Aluminium A1100P Silver , Black+Anodized
5 HN— : 7 ILSHR A1100P DIN—, TS99 TILIAL
Top cover Aluminium A1100P Silver , Black*Anodized
6 THhi— 1 T ILEHR A1100P DIIN—, TSV TILIAk
Bottom cover Aluminium A1100P Silver , Black+Anodized
. a—F—H—F o TPE (T3 RF) T390, Jb—, RE— Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
g RO RANT % ! PU_PAS . ABS . AWCH IIvY ., TL—
Carrying handle Black , Gray
9 ER{tE R (MM3 x 8) " % ZIirILAYFE
Screw (Flat head M3 - 8) Steel Nickel plated
0 BATE R GRARAFAILEMS x 10) o % =B yaA—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
» BFTE R (FAR2YE I M5 x 8) s &% ={foai—k
Screw (Self-tapping pan head M5-8) Steel Trivalent chromate
1 BFER RATRETMS x 5) . % —uirLAvEx ZffiRonA—t
Screw (Original trapezoid hex head M3 — 5) Steel Nickel plated , Black trivalent chromate

10

BRSUINFERT %

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mf/Title
S F—H—F LT~

Portable Aluminium Instrument Case with Handle

o]

7 5%/ Approved 18X/ Checked

iR X

#I[X/Created

wF

FIE /Product number

AUGH66-30-50-101 L[]

RIE/Scale

R—T/Page

{ERL B /Date

2023/06/01

177

E85 / Code | 7JLZ4H—X / Aluminium enclosure O—F —H—K / Corner guard |F+>%/\2KIL / Carrying handle
SBB 2 )LsiN— / Silver 73594 / Black 75979 / Black
SGB 2 JLsN— / Silver 4'L— / Gray 75979 / Black
SNB < )LiN— / Silver *AE— / Navy 75w4 / Black
SRB 2 )LsiN— / Silver LYK / Red 73594 / Black
SBG < )LiN— / Silver 75wv% / Black J'L— / Gray
S GG < )LiN— / Silver J'L— / Gray J'L— / Gray
S NG < )LiN— / Silver *AE— / Navy J'L— / Gray
SRG 2 JLsN— / Silver Lk / Red J'L—/ Gray
B BB 7574 / Black 75v7% / Black 7594 / Black
B GB 7579 / Black 4'L— / Gray TS99 / Black
BNB 7574 / Black +4AE— / Navy TS99 / Black
BRB 7574 / Black LYk / Red 7594 / Black

AREDEFEIBRRSHINTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:6.5)

F view

R24

50

J

50

¢ N

N

253

R52

C view

A view 78

308
> —

(=

5

[$)]

D view

508

25

E view

300+ 0.5 (r—R4 2 / External)

A-A (1:65)

]
I

4

486

500+ 0.8 (- — R4}z / External)

C-C(165)

ik
g

66+ 0.3
B view (7—R%5VM / External)

T
1

BRSUINFERT %

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4 /Title
a—F—H—KRFFr)oT5—X

o]

Portable Aluminium Instrument Case with Handle

752/ Approved & X|/Checked [ /Created 4 F /Product number RE/Scale
1:6.5
iR : #F7 | AUGH66-30-50-010100 —
{ERLH/Date 2023/05/26 2 /7

AREDEFEIBRRSHINDTFER T EITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

450

65

~

~
"/

~

~
\

Z M / Front side

D {l#% / D Frame

28

127.5

450

28

4-@55

65

Z M / Front side

58.7

58.7

225

s 1

225

33 333

3

3

33 33

3

14

— =r
5 2-M3AY 9% M3 5
2-M3 Countersunk
X RxtE+HEFE / Same on the other side.

~ ~ ~ ~
v/ s v/ %

@ / Back side

14

5 2-M3RY SR M3 5
2—-M3 Countersunk
¥ xt T+ [E4E / Same on the other side.

@ / Back side

fnda/Title
TAKACHI] #RXEitahFEHRTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:35
iR £ wF ~R—/Page
H66 — D500 {ERL B /Date 2023/05/26 3 /17

AREDEFEIBRRSHINTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

250

25

14

N

2-M3RAHY I}
2-M3 Countersunk

45

29

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:15
iR z w4t —
W300 1ERLH/Date 2022/11/16 4 /1

AREDEFIEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\N2R)L / A Panel

250

55

B#~TiE / Max dim. 242+ 0.5

M@ / Front side

B /\7~JL / B Panel

M / Front side

<ti% / Max dim. 47+0.3

)]

ol

fREES — A

Surface protective film side

REES — A

Surface protective film side

1.5

ZET / Back side

Z | / Back side

BRSUINFERT %

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
INTR)L

Panel

o]

7 5%/ Approved #%[X|/Checked #I[X/Created R /Product number RIE/Scale
1:25
Al
th *E F AN R—/Page
H66 — W300 {ERL B /Date 2022/09/27 5 /1

AREDEFEIBRRSHINDTFER T EITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

489.4

M@ / Front side

470

289.4

270

A% / Max dim. 253+ 0.5

6-@4.5

BH~tiE / Max dim. 453+ 0.8

fREEL— A

Surface protective film side

2@ / Back side

s/ Title
TAKACHI| ¥X&suahFEHIE HI8— @ CI
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
#:2/Approved | 1&E/Checked %X /Created | Z!#&/Product number RO Seale
1:3.5
iR ES e R—T/Page
W300 - D500 fERE/Date  2022/11/16 6 /17

AREDEFIEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

489.4

R / Front side

470

289.4

270

A% / Max dim. 253+ 0.5

6-4.5

BH~tiE / Max dim. 453+ 0.8

fREEL— A

Surface protective film side

ZEME / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

AR/ Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:35
i 3 it e
W300 - D500 YERL B /Date 2022/11/16 1771

AREDEFIEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






